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1to pass it off with feigned , but it clearly disturbed him.
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ord segment that substitutes (replaces) the bracketed word segment
d completes the sentence meaningfully. Select the option 'no
aquired' if the sentence is correct as given.

: law of conservation of mass though the amount) of phosphorous and
ins the same throughout the reaction.

aw of conservation of mass since the amount
orrection required
aw of conservation of mass although the amount

aw of conservation of mass for the amount
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mployees from every/ branch are chosen at random to/ participate in
ports honour event.

of the employees from every
cipate in the annual Sports honour event.
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ch are chosen at random to
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ope that something happens the way you want it to.
1ake someone laugh.
itionally raise a false alarm.

n you complain about a loss from the past.
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ord segment that substitutes (replaces) the bracketed word segment
d completes the sentence meaningfully. Select the option 'no
aquired' if the sentence is correct as given.

1at, "The narrow streets) and the traffic congestion of the business

ented difficult problems of urban transit, but the system is of
efficiency.”

orrection required
1said, "The narrow streets
1 says that "T he narrow streets

1 said that "T he narrow streets
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:ker Than Water

ake on a task that is way to big.
‘e event or occurrence.
family bond is closer than anything else.

void talking.
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nk with the most appropriate choice

y of philosophy affirmation precedes negation;
ticism.
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ire given, out of which only one word is spelt correctly. Choose the
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e below has been divided into three parts. Select the part of the
at has an error. If the sentence has no error, select the option 'No

individual experience is/ thus the only criteria we possess of the/
the conscious experience itself.

rror
rofit by individual experience is
the only criteria we possess of the

:ence of the conscious experience itself.
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ion:
given with 5 questions following it. Read the passage carefully and choose
rer to each question out of the four alternatives

10t begin to fathom what she was hearing. In fact, a part of her began to feel
yme sort of dream, unable to emerge to wakefulness.

ractor appeared flabbergasted. His mouth stayed in a half-open position, like a
aiting for its strings to be tugged.

" Robert said again, speaking to the notion that someone in the room had
clarify his words. No one had, but Robert understood the silence.

> chances that an Indian burial ground would be found on the bucolic site

and Kelsey had chosen to build their dream home? Why in the world would

nt to have the remains carted away, thought Kelsey. T he last thing they
ndian poltergeists meandering around their home while the two of them were
vate their marriage.

y deferential to her husband, knew that now was the time to make her position

ijole Robert away from the direction he was heading. “Sweetheart,” she cooed.
1t to build on a site with human remains. It would be irreverent to the dead.”
she saw contempt in Robert’s eyes; it was a subtle reminder of how he often
superficial and self-absorbed.
be irreverent,” said Robert, his voice dripping with condescension, “would be to
se Native graves and move them from their final resting place. Remember the
elsey did not “remember the culture.”

care less about the culture. However, Robert, the history professor, was
1ralled by the contractor’s findings. He had an innate way of understanding
and other people that amazed Kelsey. He did not have that gift with her.

g inside Kelsey said this was too much. She believed wholeheartedly in ghosts
imagine a life of them haunting her, rattling her cupboards, and shaking her

1unnerving sensation that problems were ahead.

1No :16
‘bert's profession?

itect
Jpreneur
ractor

)ry professor
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ion:
given with 5 questions following it. Read the passage carefully and choose
rer to each question out of the four alternatives

10t begin to fathom what she was hearing. In fact, a part of her began to feel
yme sort of dream, unable to emerge to wakefulness.

ractor appeared flabbergasted. His mouth stayed in a half-open position, like a
aiting for its strings to be tugged.

" Robert said again, speaking to the notion that someone in the room had
clarify his words. No one had, but Robert understood the silence.

> chances that an Indian burial ground would be found on the bucolic site

and Kelsey had chosen to build their dream home? Why in the world would

nt to have the remains carted away, thought Kelsey. T he last thing they
ndian poltergeists meandering around their home while the two of them were
vate their marriage.

y deferential to her husband, knew that now was the time to make her position

ijole Robert away from the direction he was heading. “Sweetheart,” she cooed.
1t to build on a site with human remains. It would be irreverent to the dead.”
she saw contempt in Robert’s eyes; it was a subtle reminder of how he often
superficial and self-absorbed.
be irreverent,” said Robert, his voice dripping with condescension, “would be to
se Native graves and move them from their final resting place. Remember the
elsey did not “remember the culture.”

care less about the culture. However, Robert, the history professor, was
1ralled by the contractor’s findings. He had an innate way of understanding
and other people that amazed Kelsey. He did not have that gift with her.

g inside Kelsey said this was too much. She believed wholeheartedly in ghosts
imagine a life of them haunting her, rattling her cupboards, and shaking her

1unnerving sensation that problems were ahead.

1No :17
ong with the site upon which the couple had decided to build their dream

s a bucolic site
s disliked by Kelsey
s an Indian burial ground

s haunted

Question ID

160092911746



https://t.me/DSSSBTEACHERS1

ion:
given with 5 questions following it. Read the passage carefully and choose
rer to each question out of the four alternatives

10t begin to fathom what she was hearing. In fact, a part of her began to feel
yme sort of dream, unable to emerge to wakefulness.

ractor appeared flabbergasted. His mouth stayed in a half-open position, like a
aiting for its strings to be tugged.

" Robert said again, speaking to the notion that someone in the room had
clarify his words. No one had, but Robert understood the silence.

> chances that an Indian burial ground would be found on the bucolic site

and Kelsey had chosen to build their dream home? Why in the world would

nt to have the remains carted away, thought Kelsey. T he last thing they
ndian poltergeists meandering around their home while the two of them were
vate their marriage.

y deferential to her husband, knew that now was the time to make her position

ijole Robert away from the direction he was heading. “Sweetheart,” she cooed.
1t to build on a site with human remains. It would be irreverent to the dead.”
she saw contempt in Robert’s eyes; it was a subtle reminder of how he often
superficial and self-absorbed.
be irreverent,” said Robert, his voice dripping with condescension, “would be to
se Native graves and move them from their final resting place. Remember the
elsey did not “remember the culture.”

care less about the culture. However, Robert, the history professor, was
1ralled by the contractor’s findings. He had an innate way of understanding
and other people that amazed Kelsey. He did not have that gift with her.

g inside Kelsey said this was too much. She believed wholeheartedly in ghosts
imagine a life of them haunting her, rattling her cupboards, and shaking her

1unnerving sensation that problems were ahead.

1No:18
‘the passage, which of the following options is incorrect? Choose one

rrt and Kelsey were having marriage troubles.
rrt was fascinated by the contractor's findings.
3y tried to persuade Robert to cart away thesremains of the dead.

rrt by profession was an architect.
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ion:
given with 5 questions following it. Read the passage carefully and choose
rer to each question out of the four alternatives

10t begin to fathom what she was hearing. In fact, a part of her began to feel
yme sort of dream, unable to emerge to wakefulness.

ractor appeared flabbergasted. His mouth stayed in a half-open position, like a
aiting for its strings to be tugged.

" Robert said again, speaking to the notion that someone in the room had
clarify his words. No one had, but Robert understood the silence.

> chances that an Indian burial ground would be found on the bucolic site

and Kelsey had chosen to build their dream home? Why in the world would

nt to have the remains carted away, thought Kelsey. T he last thing they
ndian poltergeists meandering around their home while the two of them were
vate their marriage.

y deferential to her husband, knew that now was the time to make her position

ijole Robert away from the direction he was heading. “Sweetheart,” she cooed.
1t to build on a site with human remains. It would be irreverent to the dead.”
she saw contempt in Robert’s eyes; it was a subtle reminder of how he often
superficial and self-absorbed.
be irreverent,” said Robert, his voice dripping with condescension, “would be to
se Native graves and move them from their final resting place. Remember the
elsey did not “remember the culture.”

care less about the culture. However, Robert, the history professor, was
1ralled by the contractor’s findings. He had an innate way of understanding
and other people that amazed Kelsey. He did not have that gift with her.

g inside Kelsey said this was too much. She believed wholeheartedly in ghosts
-imagine a life of them haunting her, rattling her cupboards, and shaking her

1unnerving sensation that problems were ahead.

1No :19
Leave it." is said by whom?

ractor
n Poltergeists
it

3y

Question ID : 60092911744
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ion:
given with 5 questions following it. Read the passage carefully and choose
rer to each question out of the four alternatives

10t begin to fathom what she was hearing. In fact, a part of her began to feel
yme sort of dream, unable to emerge to wakefulness.

ractor appeared flabbergasted. His mouth stayed in a half-open position, like a
aiting for its strings to be tugged.

" Robert said again, speaking to the notion that someone in the room had
clarify his words. No one had, but Robert understood the silence.

> chances that an Indian burial ground would be found on the bucolic site
and Kelsey had chosen to build their dream home? Why in the world would

nt to have the remains carted away, thought Kelsey. T he last thing they
ndian poltergeists meandering around their home while the two of them were
vate their marriage.

y deferential to her husband, knew that now was the time to make her position

ijole Robert away from the direction he was heading. “Sweetheart,” she cooed.
1t to build on a site with human remains. It would be irreverent to the dead.”
she saw contempt in Robert’s eyes; it was a subtle reminder of how he often
superficial and self-absorbed.
be irreverent,” said Robert, his voice dripping with condescension, “would be to
se Native graves and move them from their final resting place. Remember the
elsey did not “remember the culture.”

care less about the culture. However, Robert, the history professor, was
1ralled by the contractor’s findings. He had an innate way of understanding
and other people that amazed Kelsey. He did not have that gift with her.

g inside Kelsey said this was too much. She believed wholeheartedly in ghosts
-imagine a life of them haunting her, rattling her cupboards, and shaking her

1unnerving sensation that problems were ahead.

1No :20
he speaker mean by the phrase "Yes. Leave it,'?

asking Kelsey to leave him and the contractor alone.
e the site and find a new site to have their dream home constructed.

sesn't intend to leave the remains of the dead buried and build a house on that

asking the contractor to leave the remains‘ofithe dead'buried.
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